CHAPTER 6 TEST C


            Name: __________________________

Directions: Show all work.


Section: _________________________

1. Which one of the following expressions is equivalent to 
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2. Which one of the following power functions is consistent with the table below?     
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3. Which one of the following expressions is an equivalent form of 
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4. Which one of the following expressions is an equivalent form of 
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5. Which equation represents a circle in the x-y plane with radius 3 and center at (7,8)?
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6. Which one of the following is a solution to the equation 
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7. The volume of a cylinder is given by the formula 
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 where r is the radius of the cylinder and h is its height.   Write in scientific notation the volume of a cylinder with r = h = 9 meters.  Use 3 significant digits.


8. The surface area of Lake Tahoe is 191 square miles, or about 
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 square feet.  The average depth of lake Tahoe is about 1050 feet.  Approximate the volume (in cubic feet) of the Lake Tahoe to two significant digits and write this value in scientific notation.

9. Simplify: 
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10. Write the expression without negative exponents and simplify: 
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11. Write the expression in radical form: 
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12. For the period 1995 to 1997, the air quality value for ozone in the Los Angeles area was 0.215 parts per million (ppm).  If a breath of Los Angeles air contains 
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 molecules, estimate how many of these molecules are ozone.   Write this quantity in scientific notation.


13. Solve the equation: 
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14. If  
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15. Use the distributive law to expand the product, then simplify: 
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16. Write the equation in standard form.  State the center and radius of the circle.  
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17. Find an equation for the circle whose diameter has endpoints at 
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18. Write an equivalent expression without a radical in the denominator: 
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19. Write an equivalent expression without a radical in the denominator: 
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20. Find both solutions to the equation: 
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21. Use a calculator to approximate 
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22. Use a calculator to approximate 
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23. Microwaves travel at the speed of light (
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) and have a wavelength of about 1 cm.  Approximate to two digits the time it takes a microwave to travel one wavelength.  Write this value in scientific notation.

24. Use a graphing utility to solve the equation 
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25. There are three real solutions to the equation 
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Solutions For Chapter 6 Test Form C.

	1. e
	2. b
	3. c
	4. b
	5. d
	6. d


7. The volume is approximately 
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8. Lake Tahoe has a volume of about 
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12. 0.215 ppm = 
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17. The midpoint of the diameter, 
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 are both solutions to the original equation.
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23. The time it takes a microwave to complete one wavelenth is approximately 
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Using a graphing utility, you can graph both the function on the left side of the equation and the function on the right side of the equation, zoom in and trace to the solution at the point of intersection. For a more precise value, the TI-85 has an “ISECT” feature that will find the coordinates.  It appears the solution is about x = -0.3335913322  
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.  Graphing this function on the interval 
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